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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Power Plant Engineering
Subject Code: 2TEO6PPE1 Branch: Diploma(Mechanical)
Semester: 6 Date: 04/05/2016 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions

1)  Out of the following which one is not an unconventional source of energy?

1) Tidal power 3) nuclear energy

2) Geothermal energy 4) wind power
2) Inapower plant, coal is carried from storage place to boilers generally by means of

1) Bucket 2) V-belt 3) manually 4) none of above
3)  Which variety of coal has lowest calorific value?

1) Steamcoal  2) bituminous coal 3) lignite 4) Anthracite
4)  Which of the following enters the super heater of a boiler?

1) Cold water 2) hot water  3) Wet steam 4) Super-heated steam
5) The overall efficiency of a boiler in a thermal power plant is of the order of

1) 10% 2) 25 to 30% 3) 40 to 50% 4) 70 to 80%.
6)  Which power plant is free from environmental pollution problems?

1) Thermal power plant 3) Hydro power plant

2) Nuclear power plant 4) None of above
7)  The function of coolant is to

1) Extract heat from reactor 3) control the reaction

2) Slow down neutrons 4) reflect the neutrons
8)  In which of the following reactors, heat exchanger is not used?

1) Pressurized water reactor 3) CANDU reactor

2) Boiling water reactor 4) Gas cooled reactor
9)  The critical pressure of the boiler is

1) 222.2 bar 2) 221.2 bar 3) 20 bar 4) 256 bar

10) What is the function of turbine?
1) Convert heat energy in to mechanical energy.
2) Convert potential energy in to kinetic energy
3) Convert mechanical energy in to electrical energy
4) None of these
11) An air pre-heater is installed
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1) Before economizer 3) between the economizer and chimney

2) Before super-heater 4) none of these

12) Solar cells are made up of

1) Silicon 2) Germanium 3) silver 4) aluminium

13) The function of a moderator is to

1) absorb the part of the kinetic energy of the neutrons
2) extract the heat

3) reflect back some of the neutrons

4) start the reactor

14) Chemical representation for heavy water is

1) H,0 2) H20; 3) H30 4) D3O

Attempt any four questions from Q-2 to Q-8

Q-2
Q-3

Q-4
Q-5
Q-6
Q-7

Q-8

Y-

a)
b)
a)

()

R)

3)

Differentiate between central power plant and captive power plant.
Explain la mont boiler with figure.

Explain pneumatic Ash handling system with figure.

Explain condenser cooling water circuit with figure

List the type of conveyor and Explain any one with figure.
Explain pressurised water reactor (P.W.R) with figure.

Write notes about nuclear fuel, coolant and moderators.

Draw and explain line diagram of diesel power plant.

Explain fuel storage and supply system of diesel power plant with figure.

Explain open and close gas turbine cycle with figure.

Explain solar power plant with figure.

Explain wind power plant with figure.

Explain tidal power plant.

Write advantages and disadvantages of geo-thermal power plant.
Draw schematic arrangement of hydro power plant and explain it.
Explain chain grate stoker furnace with figure.
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